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20 ¢ YE r T »
N,0g 76.014 u
Na03 ¢ YE= 28 = =]12.669
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BaO 1533.34
Bal : Y fh=—v= =76.67
2 2
Cla0 86.906
CL0: ¥E= 122, = =43.453
. Cl:0, 182.906
Cla07 :Yfe —2 " = =13.065
14 14
Ta,0 61.979 .
Naa0: %ﬁ: el - =30.989
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P205+3H30=2H3P0,
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(a) MpO, —Mp?t

(b) Cras0,—>crd*t
(c) H3As03 —>H3zAs0,
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(a) MnO,~ +8H +5C=Mn**+4H,0
(b) Cra0:*~ +14H 46C=2Ccr®t47H,0
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(a) ETFEGHEHNERKE

6.00g NaOH %R 0.200LK%EHK -

0.3158 HaCyO04® 2Ha0O% K50.0mQ ﬂ(ﬁii&"
21.03g Ca0 HM2.00L ABEWK -

49.0mg HegSO, ¥R10.0ml KEHK-
34.068 NHa¥MR5.000 HKEHK -

o) L P A ey SRR

(1)

(2)

b.

(1)

(2)

68
40g,/mox0.2000

=0.75M{(nof, Q)

0.3158 0.3138
1268/ molx50mf 126&/molx0.054

=0,05M(mold L)
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- =0.188M(mog, 1)
Gl 568/ m0lx2.004 L
49mg :
=0.,0mmof) mM=0,05M
) 98mg, mmolx10,0mp Ll
34.06¢g ,
(5) =0.4M(mof L)

178 mofx5.004

6. WTrlEHMgeER ng n) T
(a) 0.150N HCLRWMAE Ca0 ca(0H) s Na 0 ft NaOH
(b) 0.24N NaOH M HCL HCLO 4 »H2S0 4 FUHC, H,0,
WRBEERT - ,
(c) 0.0200M KMnO A FeO ' Tes05 fMAs20: HE
JRBL Y Mno " —n’Y; Fe?*—med ¥ As03% 7 ~A50,3%"
mogq mg

a. T=0.150 X28
(1) 1 ) -

=4 .2ng,/m) (Cal)

(D) T=0.150meq, mlx37Tmg, neq
=5.55ng,/ml(Ca(0H) 4 )

() T=0.150meq, mix31ng, meq
=4.65ng %) (Na,0)

(V) T=0.150meq mlx10meg meq
=6mg/mf (WaOH)

be{(I) T=0.24meqd, mlx36.5mg, meq

=8 .7 6me, mL(HCL)

(I) T=0.24meq,/mfx100.5mg meq
=24 .12ngm)(HCLO,)



() T=0.24meq/mx49mg meq
=11.76mg/ml(Ha2S0,)

(NV) T=0.24meq/mx60mg meq
=14.4mg/mQ(HC,HgO3)

ce 0.02M KMnO, =4 7=0.1N KMnO ,

(I) T=0.1meq/mlx71 .8mg/ meq
=7.18mg/ml{Fe0)

(I) T=0.1meq/mlx79.8 mg/ meq
=7.98 mgymf{(Fe,03)

() T=0.1meq/m{x49.45mg/ meq
=4.95mg/m)(As,03)
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(d) HaS0,5 HEF1.308m0 132.6% 50,5 (EF)
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Fez+__Fes+ o
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Cra07% —Crét ; MnO, —Mn2+ ;

e ° XV nm
].9‘ -81118'/1111‘&0,0,

( ¥ =U=~meq/m4)
S V{mg)=10
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4

654mg
0.150xV(mp)= ne
54 .5mg/ meq

V(ng)=80

c. EW(Fepa035)=159.6

Xug
50.0mfx(0.025x%x6) M= -
159.6mg/ meq

X=]1197Tmg
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BLER SHEA KMnO AHEMEHPER - AEA LI Om) MITF
50.0ml BENPABERL . BIMHEAHK 20000 AER
BRI CaCa0, » HITRABEME > F10.004000 KMnO, JEHH
% FlEl1.25m) « WHHOAFFSHEFHRERAFLI0.0nl @d
ghuelyca’ FRTMEGHKE -
#x h4g10.0ml @Fca T Hng
0.0041TX1.25m0=0.005necq(KMn0O,)

xmg ’ ;

._.[.I.éé, =Co‘*Hmeq

— (E.W)

2

X
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5mIx10 1 &/ mix3%(WA)
0. NxXvVv = X1000
158xV(nl) 342 & ed 1

/4 E/IREHR L mBERHBHG 0. JERK  FERER
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x=0.168g( MALLNac BT )

/7. THEREFESR ﬁﬁy*ﬁ—ﬁﬁ%ﬁﬁ~ﬁﬁiﬁ+
L AT AR,

x100% =15%



(a) A-—NMTHEREFEIOEGERE ?B—IRK?
(v) ATHZ)URRT XL KE
e. BiEE® Pa K
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be 3r0isz
/9. AFIBWABERBHERPENTHMCE  EHELENT:
RATEZE

%1
- X1000=0.00042%; 1064X1000=0'94%”

a Xi% [Xi—X | | xi—x| *
A B A B A B
/.t 20.48 20.44 |0406|0.07] 0.0036 | 0.0049
20.55 20.64 [0.01]0413] 0.0001 | 0.0169
20.58 20.56 |0.04]0.05, 0-0016 | 0.0025
20.60 20,70 |0.06{0.19] 0.0036 | 0.0361
20.53 20.38 |0.01;0.13; 0.0001 | 0.0169
20450 20.32 {0.04({0.19! 0.0016 | 0.0361
Xp=20.54 | Xp=20.51 £,=0.0126 Xp=0.1132
i=n
E1XRy _
Sa= | . : =/w_=5.02x10_2
A n—1 5
i=n

. i=1 0.1132
vp= = | ————=1,5x10""
n—1 5
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A SRR ES=20.5405—20.45%=0.09%

20.54%20 . 45% .
A RHRE G = ——— 04—_0/ 7 X100%=0.44%
J e 370

N 20451%—20.45%

20.45%

2. HEERBRAF—ANECIFRGETHER30.44% »
30.52% » 30.60% 2 30.55%M30.12% %M Q fAmek: FI8T
B —AMERRBHFR P AHEAR R RN T BN THERAT
i EIEE 2

WAM30.60% 5 FME30.12% 5 TEAI30.12%

5HkEis0.12% R4RRETM30.414%

_HRME-4BEE 30.44%-30.12%
A —~F/ML 30.60%—30.12%

a

=0.66 (IWHBEHQME)
MFEEBY n=75 8> THEEEERHQME=0.64
S 0.66>0.64 2 30.12% FEA NS
W HIPEANEME R TN 30.53%

,", 0.01%+0.01%240.0724+0.0272
Nj , 3

=0.042

o o=

HBREAF tHEHF Yn—1=340 t=3.18
s e 3.18%0.042 '
THERE: 30.53% — —=30.53%0.067
J S .,
! (¥R 9 5% )
=30.597~30.463
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8. X1000%:==0.325%0

3080

—

602

; X1000%2=104166%

X
96500

X100 0%, =0+ 01%>

-

- X1000%=22.08%

-+

5 X100 0%o==%1 . 00%s

- oy |

—_—

Qe - X100 0%e=%1%0

1000

25 EokedNar BHESZL G FEHSIARSE
WHNaF?

1 F=5008 = 1mQXEl g

1.5 500
= » X=3.33%x108
-& 100 X &
YT 3.33x108%F
X RRAARRKETERNRT TRt R
L 2.52X4.10x15.04 L. 3.10x21.14x5.10
) 6.15%xL04 * 0.001120
51.0%X4,03X104 . 0.0324%x81x2.,12x10%
2.512X0.0002234 : 0.00615



6. 213.64-44.4+0.3244

2.52%4.10%X15.0
6.15%1014

=2.53x10"8

3.10%21.1x%5.10
b. =2.98%10°
0.00112

51.0%X4.,03x10"¢
Ce =40.2
2.51%X0.0020C3

0.,032%8.1%x2.1%x10°¢%
d. =8.8x1038
00062

€s 213.6+4.4+0.3=218.3

A7 HERALMF0. 42408 FATRAEE R BE50.00%Fac0;.
A 40.10m0B0.1000 HBRFE (Na.Co3 BEEH55.00),
HH(a) 3tz (b)HMEE( ULET) -

kx =Wl Tacos ek

X

40.10%X0.1000=

1000

¥=0.21259

0 Ll Z l 25 - A 12 - ) 3
g (Lo 096=50 .1 2% (I 71T K T o.CO HEHHEE

EEi=50.00% .
AR ZE S =5041200-50.00%=0.12%
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(1) M0.36728CaCla*6H,0 HUAERF D gCal?

(2) FAE50.008KAL(S04)a 12H20 HEM15.00mL,
W 4 MKBas0, £l e ?

(3) 44 90.00g Fa,HPO - 12H, 0 M 3.00m) »
HERMEsP20; B0 g ?

(4) MBH22.5%51 WS4 40.1329gF » H44 510,
e ?

5608
=0.09403
219.0 3

{I) 0.3672%

50><15x 2X233 .4

=0.7380
1000 AT4.4 3

90x3 22246
(3) & =0.0839
1000 2x%x358.1 %

22.5%0.1329 650.09 -
(4) X =0.06396 3,
100 28 .09

S REBENEFes0,-TH,0 ME&OHE » YT H0BE
5| Fel0340.18 » MEHRMAE $D e ?

2 X 278
159. 7

<35 3%

0.1

2 e (FH,):S0,85% ENfLAEEY » Bk{EpT/2 BasO,
WEA0.3¢ » FIEHRAUEHERZES e ?

132 x 100:0-23(_.
2334 85




